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SN HIED
BB 4ol pO|(LYDDHI/NYHT - HIXE)

ol UM OHN HE (Etel: &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 ZT&3 1,500 1,000 500
OMeI+e MLHeI20F La2A Zat
1,500,000 1,500
403 XHXI EHH S XH2 01 & 33,450 45,136 16,686
02 271 2-S Ofl CH & CH 8 AL 4 b 38,450 45,136 16,686
OSE LA AAE XS 5,798,000 5,798
OEEXYH ANAH RN 24 17,144,000 17,144
OMSA+YBEZAAY FX24 14,500,000 14,500
OXYM LHZE2H| 1,008,000 1,008
MM =2 106,803 80,623 26, 180
201 LBre | 76,043 74,863 1,180
01 Ak 22l 35,528 35,328 200
Ot 35,330
—HEHNDNAN SIsEs o N
3,000,000 * 43 12,000
—HLN B2 A2 M
200,000 * 43| * 6S 8 4,800
—ge +YEX 3,000 * 4,0000H 12,000
—HERS 8 242 2,000 * 50021 1,000
— IS B (POA) BX
1,650 * 2008 + 13| 330
—NEBHPIBL42 3,000,000 * 13 3,000
—HRUBYRAHIL 242
2,200 * 1,00024 2,200
oYtz 198
—HENES FESLI| A
16,500 * 122 198
02 BB=2H| 40,515 39,535 980
OZZQ2LHA 36,555
—HEDNN L8 2B 19,740
Solex 1,750 * 1,20004 * 43l 8,400
et 270 * 10,5002 * 43 11,340
~HEHENLES 28 10,640
SOISE(DY, B ASYESS, 4F)
1,750 * 5,0000 8,750
-t 270 * 7,00021 1,890
—ABTL BHHE 6,000,000 6,000
—HLNES HESLI| OISSHE L It
bl 175,000 175
ONEFHIRX 2% 3,960
— X2 HIH Al A B (PDA) 2RI 2 4
330,000 * 122 3,960
202 01t 5,760 5,760 0




SN HIED
BB 4ol pO|(LYDDHI/NYHT - HIXE)

SRl XSRS oHEA =5 (9 ®2
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
01 =LHOd B 5,760 5,760 0
ODE DANLT ==
20,000 = 4% * 6 ~ 12& 5,760
405 RHebFE S| 25,000 0 25,000
01 AL =SS FSHI 25,000 0 25,000
Ogls® IX AAE 2 25,000,000 25,000
DAXZ O L A 91,657 81,741 9,916
FEIFE AL 91,657 81,741 9,916
101 21241l 22,953 22,758 195
4 JI12HHZ22NSEs 22,953 22,758 195
OMNEFEILA A 22,953
—olHHl (FH+Y &)
37,110 = 2% = 302¢ 22,415
-2 MHEER 22,415,000 * 2.4% 538
201 B2 HH| 65,104 55,383 9,721
01 AR 2teld| 62,944 53,758 9,186
Ogt=ZH| 57,464
eI E Py
5,808 * 16,0002 * 50% 46,464
—HE AR ENARE A4
24,200 * 100= * 50% 1,210
RN Pey
24,200 * 100= * 50% 1,210
—fg=eiAa =85 +¢ 8,580
SMEETAN 35,000 * 304kAt 1,050
- AP T AR BERICEH 4,000 * 502 200
-HE=8 SXE2 M 80 * 16,0001 1,280
S0 o U2 25,000 * 704 + 63 1,050
HEETH A= 5,000,000 5,000
ozgd=+¢ 3,080
RSN BAAY
70,000 » 11" * 43| 3,080
O= 2l 2,400
—IHEFEIR BRFA 2,400,000 2,400
02 2=22gHl 2,160 1,625 535
OS2 XA 2,160
~HEFEOIHZBENS 2B
270 * 16,0004 * 50% 2,160
202 odl 3,600 3,600 0
01 SLHA b 3,600 3,600 0
OMEFEHAIDL ZAL
20,000 = 3% = 5& » 12& 3,600




CONE D

D HE2SIH(ME D) (OIEH/IIE

|
D Jl2Z 8 (ME D

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
HY2AZHI(ME D) (JIEHDIEH 52,542 71,000 A 18,458
Jl2ZHI(M&ED) 52,542 71,000 A 18,458
Jl=&d| 52,542 71,000 N 18,458
201 gEt2dd| 33,942 51,120 A17,178
01 AtR2tel 33,942 51,120 A17,178
Ogel=gHl 28,942
—XNgA2EE 1,600
XethE g 35,000 = 205 700
KA &2 100,000 * 6% 600
=MEE 100,000 * 3% 300
—=ALEX 25,300 * 20 A « 128 6,072
—=SADIEYH 45,000 = 6K 270
—S A =2l 250,000 * 63l 1,500
—FAXEH 7 150,000 * 104 1,500
—Zdzegy 23 2,000,000 2,000
—T2HI EW ¥ EF 200,000 * 504 10,000
—dH2IaF 2,000,000 2,000
—JISANRES #¥ 2,000,000 2,000
~SHSANY Y Y BH2E S
2,000,000 2,000
O =l 5,000
— A2 E E2 A 5,000,000 5,000
202 044l 14,400 14,400 0
01 =2 A b 14,400 14,400 0
OJl2dR==d80dbl
120,000 = 202 » 128 » 50% 14,400
203 R =& 4,200 4,200 0
04 SARIARER 4,200 4,200 0
ORMNIIYE= 350,000 = 12& 4,200
iRes(MEL) (LIS HE/ANLSHE - HEXH) 291,000 291,000 0
28X= 291,000 291,000 0
ERSPNES 291,000 291,000 0
311 Xt S0I Xt & 291,000 291,000 0
04 SLERXLSO0IR 291,000 291,000 0
OS2 NS(NLDENZHEH)
291,000,000 291,000




